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COMMERCE
(Honours Generic)

Answer the Questions from any one Option.

OPTION-A
( Microeconomics)
Paper : COM-HG-1016

OPTION-B
' (Investing in Stock Market )
Paper : COM-HG-1026
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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1.

OPTION-A

( Microeconomics)

Paper : COM-HG-1016

(A) Answer the following questions :

1x5=5

ool 2T Bes ol ¢

()

()

(ifi)

(iv)

What is the shape of demand
curve, if Ed = «.

I Ed = < TH, (TS 5 @R S
R =2

Mention a property of indifference
curve.

s @9 9Ot of T 90

What is production function ?
Besiva Tow Ifeea & q@te

Draw AR and MR under perfect
competition.

7 eferPIerER TR AR W% MR

(T O 9
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(v)

Who’s name is associated with
Revealed Preference theory of
consumer behaviour ?

129 NI 6V OGOR TORS
e

(B) Choose the correct answer : 1x5=5
uE BEIH! AR I ¢
(i) ‘Price of the commodity is the

(@)

factor of Demand’. (True/False)

I N (2R G A _
(o%/ 71
Total cost is the summation of :

(a) Total Fixed Cost and Total
Variable Cost ‘

(b) Average Cost and Marginal
Cost _ :

(c) Real Cost and Money Cost

(d) Selling Cost and Opportunity
Cost -

T T R TR

(@ RIS P ARRE N |
(b) T I T AR ¥

(c) TS JT 9IS Wl [

(d) R I3 =% FE IJN
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(iii) What is the root cause of Economic
Problem ?

(a) Investment

(b) Saving

(c) Scarcity

(d) Population

GO AT 24 g e
() RiRcaE

(b) Feex

(c) e

(d) SRy

(iv) If the price of Lux is falling relative
to Rexona, then the demand for

(a) Lux will increase

(b) Rexona will increase

(¢) Lux and Rexona will increase
(d) Lux and Rexona will decrease

I PR N @R NGNS % T,
(orS SifEwi sifFse

(@) =i¥" 37

(b) @R ABI

() AW AT @R M
(d) T AT QAL T 2R
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(v) Oligopoly market means

(a) competition among large
firms

(b) competition among few firms

(c) competition among few
buyers

(d) competition among buyers
and sellers

78 Afeiftenme IoR (TR
(@) 2 IINR ASre (Qa AfSae

(b) IN WYF ITNAR N&© (A
afscaifet

(c) TN MYT ARIT TS QA
afsraifret

(d) ol Oi% R Mee @Rt
Afecaiier

2. Answer the following questions : 2x5=10
CoR eHiTPROR s fua ¢

(@) Mention two important properties of
indifference curve.

Ftors @T 77 f S 7|
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(b)

(c)

(d)

(e)

Mention two conditions of expansion
path.

TR AT 707 56 S 1 |

State two assumptions of Revealed
Preference theory.

GAGPR AT OGO 757 SfoxRer fai

Write two measuring methods of price
elasticity of demand.

w3 5ifdne Rfgeies 757 ART#T ~iwfe Frar

Define normal good with example.

TrgIeriE FeiRe 9 kel )

Answer any four questions given below :

5x4=20

oeTe WAl Ricereanr bifdbr e e fovat 3

(a)

(b)

Explain the possibilities of price

. discrimination under monopoly market.

GFEOR IEIT TIRCSH IR TBRA TSR
et e 111

State and explain the cross-elasticity
of demand.

SiRvR fods Rfeme Sme IR IR =111
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(c)

(@)

(e)

Analyze the ‘Prisoner Dilemma’
approach under oligopoly market.

7% efrenET Iwiee RemR wigEEr
GBI Reage 390

What is economic efficiency ? How can
it be explained under monopolistic
competition ?

| Ao el SR R q@ T Qe

IS AfSraiionEe T@ie AR AR, S
Sall

Discuss deadweight loss wunder
monopoloy market.

CFHEO ISR ORI EFviAg RIw
G 9

Mention the fundamental assumptions
of perfect competition.

o|f efoaerER Iae cife afogRe
(25! TR 1|

Answer from the following questions :

10x4=40 .

R AP0 TeT ol ¢

(a) What is producer surplus ? Discuss
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producer surplus in terms of average
variable cost curve and demand curve.
2+8=10

1
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(b)

et O YT B g 2 o1 AR

JT @A T ST QT WS T[T

Tg@ SISl 314 |
Or / Q2a

Discuss ‘equilibrium Price-output
determination of firm and industry
S5+5=10
1 efSrifergRs IuTe IWiIfT ofSdm wiw
TR Sy AN % I <R et R
S 41 |

under perfect competition.

Distinguish between fixed cost and
variable cost. Explain short run total
cost curve in terms of FC and VC.

3+7=10

R e ARSI Ta TR AN ordet
1 I w1 oARIETIE IR NGEE IR
o W @t Rewet 301
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(c)

(@)

Or / 94t

- What is long run average cost curve ?

Explain it in terms of short run
averages cost curves. 3+7=10

TR 91 7 ([ IF= [ @ 7R
AT TH [T NGTS WS SCEoA 4 |

State and discuss the laws of return to
scale in terms of isocost line and

isoquant curves. 3+7=10
S [ T TR @UF TGR Afoma
RfEe S 3R wicEc 7/

Or / 94t

What is oligopoly market ? Mention its
basic features. Explain price leadership

- model under such market. 2+3+5=10

7o Rero o e & qEie W gwm
IR BE 311 G IERR WS w1-
T$Y TGB! JII I |

Discuss income effect and substitution
effect in terms of price-change. 10

R SARIGT Mg =y Reii w1 Rest R
R wtEsa 7=t ' ,
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Or / &3t : OPTION-B

Explain consumer equilibrium in terms _ (Investing in Stock Market)
of indifference curve. ‘ Paper : COM-HG-1026
?;C:W (AR G COITH SIPIG ST { 1. Answer the follpwing questions : 1x10=10
| were Al ey Tes fal ¢
(a) Which of the following options is not
available in India ?
woTe Al IRl Rew SIReId® g 727 |
| () Commodity futures (7 SRTS)
| (i) Index options (ﬁﬁ R#)
' (i{) Index future (75 ORTS)
(iv) Commodity options (&I S))
(b) Which of the following statements is
valid for mutual funds in India ?
TRt RS o (P were I (FINCE!
i taye
(i) Entry load is allowed
P (T TS
(i) Exit load is not allowed
A TS Sfe Wl 7=
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(c)

(@)

(e)

(iij) Exit load is allowd in some cases
(iv) Entry load is not allowed

Forward contracts are traded only
through stock exchange.
(Whether the statment true or false)

SeRE! 5 «aIa B RN (ererz @ Raw
= | (Cfeth! &7 o u%)

Insider trading can be )
(illegal only/both legal and illegal)
THROR PN |
(ST (3 NF G wrziz)

The sponsor of a mutual fund is similar

to the _- of a company.

(i) director
(i) shareholder
(iii) promoter

(iv) auditor
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(9

(h)
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TRT T DA Bt @R _____ T
AT | _
(i) IARES

(i) THYT

(iii) eRES .

(iv) Bo= 2w

Commodity derivatives are usd only for

hedging. .
(Whether the statment true or false)

7 OGS R @ew @ I IR A
(Cf&eo! Be 1 o)

When was NIFTY (National Stock
Exchange Fifty) established ?

e NIFTY (i 3 Rt Rewlo) Qe
] =feEe

i 1992

(ii) 1998

(iii) 1996

(iv) 1994

Write the full form of CARE.
CARE 3 #}¢f Sitht &l |
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@

0)

Derivatives trading on equity products
were introduced in Indian capital
market in June (2000/2001)

T T B9ITS TYH ET A I J SR
TG TSRS ____ 59 G TS AEN ]q
| ~ (R000/%003)
On which date SEBI made compulsory
trading of shares of all the companies

listed in stock exchange in ‘demat’
form? .

! ©iffie SEBI ¢ Wi« 3 [eioral siem

EROE (RIS SIfFRIgeE (@=ANPeLR Teh.
T QT APORES I D |

(i) 2nd January, 2000
L TR, 2000 5
(i) 1st April, 2002
S @f3&, 00% B

@) 1st April, 2005

s «@ffiF, Rooe 57
(iv)] 2nd January, 2002

© R AR, R00% B
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than 50 words each :

2. Answer the following questions in not mor§

2x5=10

oS Al e ACORGE Al o i N R foee
e faml 8 »

(a)

(b)

(c)

(d)
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What are the major stock indices in
India ?

OITeAT B3 I AW AR [ e

What is meant by the term
‘investment’ ?

River e & g0

Mention two advantages of investment
in mutual fund.

ART e Rifwse 75 (R Sme =1

What is meant by stock order ?

8BS W6R e [ gl

Give the meaning of the term
‘derivative’.

©YP 79T wigem iy
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3. Answer any four of the following questions
in about 200 words each : 5x4=20

o] il bifSb! eF AT i 00 B TN
g fooge Teg ol ¢

(a) Distinguish between open ended and
close ended mutual fund.

T AR e 77 ARAT AL e vy
ferat |

(b) Give a brief note on significance of NAV
in mutual fund scheme.

Torem Hfer SisR® NAV I 959 ife
@S Gt fd

() What is the significance of moving
average ?

SR GoieR wiesrf & fai?

(d) Explain the different drawbacks of
derivatives.

B R Rfen SheiizRz I =1

(e) What is the meaning of options ? State
the features of an option contract.

i At Rt wifzmi et & @l 2 e
N Row pies @RgEmE &
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() What are the benefits of online trading
of stock ? Explain.

IR B PR JRUPTR & 2 3 w1 |

4. Answer the following questions : (any four)

10x4=40
wete ARl SRR Rcer BifRbrT Oer B ¢

(a) Stock market reflects the general
economic conditions prevailing in the
country and hence, it is considered as
the economic barometer of a country.
Discuss.

G (P TS AT AR 8% o
sfowie 3@, TR T o™ 93w wifds
A A [EIRGR 37 @R =T | D 4 |

(b) Give the concept of risk. What are the
various risk associated with investment
in securities market ? Explain.

2+8=10
R TP LI 71t | et sig Iege

RfRGeR cras TN @t RS Retr amist
@R & e 3 =
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(c)

(d)

(e)

Discuss the various sources of financial
information needed to take a sound
investment decision. A

712 R e «b 8zt $R&e acew @R[t
Rfon Aot RSy v T Tt STew=1
9|

Briefly discuss the various types of
investment avenues available for the
investor.

RFcFRT IR Soe [Rfoa awieg RNt
CFIITIZ. Y SN 354 |

Describe briefly the various types of
mutual funds available for investment.

RivcR AR Toa RfoR ool SorgSHl
i@wﬁz@a@wn

What is derivative ? State the
advantages of derivative trading. Who
are the participants of derivative
market ? 2+4+4=10

fexizreibe a1 Ogh 7 [ 2 Tgh at Raizrebe
IR ARGE & e Tgh At akeelbe
TG SAHALIFITITR TP
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(9)

)

Briefly explam the mechanism of

trading in currency derivatives.

Wﬁﬁmﬁ@mmmm
=

What is company analysis ? Who are
the user of company analysis ? Discuss.
3+7=10

mwnﬁrﬁmﬁs? mwnﬁ’tﬁmqa
JEARRFIN A N 2 L [ |
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